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5. (F)ShuHE Wil £ 15,000/ 10,600 4,400
&l
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3.7 b g A 210 90 120 TS 2000081559 ~ 120,000
4. B G Q7] 693 693 0
E)elpEE oulEAden
GOEj) WEE YT 3,600 0 3,600
+gH
(PR 2P ES oS 2 A &
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218 H71EjqA 1 400,0009#14] = 400,000
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1.H]E 74 H] 11,310 11,310 0
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6.5 Uuke-o 299,408| 290,900 8,508
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1. k=81 2,275 2,275 ;ﬁijimﬁé‘]ﬁrﬂx‘m w9 ¢ -396,000 -396,000

(:Tgi%xﬂ SR EE . 9ol ¢ 989,000 %1 989,000

573 VR RLEoke] 9 1 -593,000¢ %14 ~503.000
2. B HAG G- 10H 225 225 0
7.8 A e % 242,320| 192,320| 50,000
1.A4%8% 2 A 242,320| 192,320 50,000
1A A s =204 242,320| 192,320| 50,000
1. (F) 8t A 8+ 7 7) Al v 192,320 192,320 0
1. A4 148,920| 148,920 0
2.1 F 4] 43,400 43,400 0
2.(3)FF-Il NET] 50,000 0 50,000

1. dnkpgn) 50,000 0| 50,000 ég%(ig%g%i?fﬂﬁﬁ A 50,000,000
8.3t A F&F 3,000 3,000 0
1. ¢)n)n) 3,000 3,000 0
‘1.@llﬂlﬂl 5,000 3,000 0
‘ ‘1.«4]H]Hl 3,000 3,000 0
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